Blindstopfen ———— M20x1,5 Lubricali 0|
: upricarnion nippie
_ Blind plug . . PP 597"
Plot de remplissage Graisseur @ M2S%1 5
Tapén ciego 130 Boquilla de engrase ’
Zo [ h 9,0..16,0 mm
Transportose Kabeldurchmesser
N .
m Ring balf _ 21 Cable diameter
(Q\ .
- S Anneau de levage Diametre de cable
O .
I | Iil Orejeta de transporte ' 3 Diamefro del cable
\ //l : | : ) @
I ] |
T T ! |
® . :
175 255
125 -
_ Gewichf: 710 kg (50 Hz) / 66,0 kg (60 Hz)
A D17
Weight - Poids - Peso
— — & - =7 )
al | P | o |
=
N
- - _ _\L © —
780
L Stck Benennung ?glrcmhbl_?\ltri Werkstoff Pos. gglhbngﬁge Kg/Stck Bemerkung
rh ® Erforderliche Befestigungsschrauben: 4 Stiick (M16) - Schraubenanziehdrehmoment: 210 Nm (Festigkeitsklasse: 8.8) Schutzvermerk Alg-Tole-  Jadsiab: 15 |
W Schutzart (P-Code) gemdl Typenschild beachten, Kabeldurchmesser mufl zur Kabeleinfihrung passen! nach ISO 16016 ranzen n.
© Einstellzugdnglichkeit beachten! ©® Erdungsschraube beachfen ISO 128 150 2768-mk
® Mounting screws required: 4 pieces (M16) - Screw tightening torque: 210 Nm (Strength class: 8.8) Datum Name Benennung:
1 |Z| ® Observe the degree of protection (IP Code) according to the type label, cable diameter and cable gland must match! Bearb. | 17.032021 | Geretshauser -
© Observe the required space for mounting the protective hoodsl! ©® Grounding screw Gepriift| 29102021 | Geretshauser E‘JbrllwucthtmOTor UVI:ZAX A3'1
® Fixation a l'aide de 4 vis (M16) - Couple de serrage: 210 Nm (classé de résistance: 8.8) Norm Mgtgu?ngebcrﬂguor:js
| ® Degré de protection (Code IP) selon plaque signalétique - Diamétre de cdéble A adapter au presse-é&toupe. A3 Motor de masas excentricas
© A prendre en compte pour démontage des capots! ® Vis de mise a la terre = =, Zeichnung Nr.: Version:  [Blaft
® Montaje de tornillos requiridos: 4 unidades (M16) - Fuerza de apriete tornillo: 210 Nm (clase de resistencia: 8.8) A%:IIFQ M13‘1469 O 1
¢ | ® Revise el grado de prateccion (codigo IP), segun lo indicado en la placa de caracteristicas, el diametro del cable y el prensaestopa debe coincidir. = Vibrationstechnik GmbH . Bl.
© Revise el espacio que necesita para montar las tapas de protecci6n. ©® Tornillo de puesta a tierra Zust. Anderung Datum | Name|Ursprung: Ersatz fir: |Ersatz durch:

Schmiernippel




